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(a) OECD gives a value of 469 mm (Source: OECD. 2014. Water: Freshwater abstractions. OECD Environment Statistics (database).http://dx.doi.org/10.1787/data-00602-en.
Accessed on 20/01/2015)
(b) Approximately. Overlap< than 50% of groundwater (GW) recharge; a small part of the GW is drained. This estimation take into account a GW flow of 23.5 km3/yr to the sea
(Zektser 1983) and GW recharge to deep aquifer or aquifer in blind basin.
(c) OECD gives a value of 387 km3 (Source: OECD. 2014. Water: Freshwater abstractions. OECD Environment Statistics (database).http://dx.doi.org/10.1787/data-00602-en.
Accessed on 20/01/2015)
(d) OECD gives a value of 387 km3 (Source: OECD. 2014. Water: Freshwater abstractions. OECD Environment Statistics (database).http://dx.doi.org/10.1787/data-00602-en.
Accessed on 20/01/2015)
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Computation of long-term annual renewable water resources (RWR) by country (in km³/year, average)

Australia

Precipitation (mm/year)
Area of the country (1000 ha)

Precipitation (km³/year)

[2]

[3]

[4]

[5]

[6]

[7]

=([1]/1000000)x([2]x10)

[8]

[9]

[10]

[12]

[11]

[13]

[14]

=[11]-[12]

[16]

=[13]+[14][15]

Dependency ratio (%)

[17]

[18]

[6]

[19]

=[4]+[13]

=[5]+[14]

=[16]+[17]-[6]

=100*([11]+[14])
/([11]+[14]+[7])

Overlap between surface water and groundwater

Global Water Information System

AQUASTAT

http://www.fao.org/nr/water/aquastat/countries_regions/AUS/index.stm
http://www.fao.org/
http://www.fao.org/nr/water/aquastat/main/index.stm

